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Qunuptlut tltutphhpl tlhpuphpltat ( ZhtryI2qltrqth tthpuhnpnqfinh )

Phq Uhnr-h Uqqurhnth Zurugh .{durP

('Lpuni)
uunpurqFnr-p1nth

I _llfr* trhpphpltuh €.Utnhrlrurtrunlurtt
2.Uhnurqurntnh 8, ph.1

12 000 ]r/,'"M
2 Ulrpullurpq Urpl2urhlurh €.Urnhrfrurhur{uh

Z.Uhnunrlurnrnh 8, ph.3

12 000

3 Uurlfru Qbnpqlurh €.Utnhrlrurhrur{rult

Z.Uhnun:lurnurh 8, ph.4

12 000 'lLrr<-k
4 I.3 nuldlrlur Qnrpqfrhl urh €.UtnhrJnltrurtlrutr

2.Uhnuruurntnh 8, ph.5

12 000
T1

5 Qhnpq (Urpuu) Gurhfrhylh €.UrnhrJrurhunlurh

Z.Uhnruulurpurfr 8, ph.5

12 000

6 9urphtr Un$1ult €.Uuhrlrurtrun{utt
l.Uhnrurlurntnh 8, ptr. 8

12 000 w
7 fruqtifr\ (Updhtr)

Uurnhhrurh
€.Utnhrlrurtlltlurtr
2.Uhnurununtnh 8, ph.9

12 000 he
8 Uptthh abnpqurh €.UrnhrJrurhurtlruh

Z.Uhnurulurnurh 8, ph. 10

12 000 4
9 Uurpqfru .Furpnprh €.Utnhrlrurhun{urh

Z.Uhnunlruptnh 8, ph. 11

12 000
'/t

t0 UpilhL lurqurplurh €.Ur"nhrlnutrunlurtr

Z.Uhquululnrnh 8, ph. 12

12 000 #*
il, i fuLour Unomriuh11gb- i +P$up\ 

|
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L2 tlnphptn Ul4phuuluh
(Uttur 2rulurplurh)

€.Urnhrfrurhur{uh
Z.Uhnunlurntnh 8, ph. 14

12 000 ftyV
13 Zururllrl$yr2urtnplurh €.Utnhrfrurtnltlurtr 9|r tldurphl

l)

ttlnrphuuputr 9Utnb*rurLru4ruL
(Ifhlpurh 9ru1frhlurh Z.Uhnunuurnrnh 8, .16

9nr-lhtnur'hu1urp1urh P.Urnhrlnuhur{urh
8,

?p+{$upQ'

12 000

e ITrnl.rh,.rhurlUL

Z.UhqurqurFnh 8

?fr tlduphl
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Ph{ Uhnth UqqruLnr-h Zurugh .{dup
('InutI)

urnnpruqpmp3nr-h

1 Qhnpq (Urpuu) Gruhfrhprh €.Utnhrlrurhunlrutr

Z.Uh4urqurptnfr 8, ph.6

20 000

2 nuqilf\ (upilhh)
UurpfIuh

€.Unh{ruhutlruh
Z.Uhryuqurptnfr 8, ph.9

20 000
lv

3 Upilhh Qhnpqlurtr €.UrnhrJnltrunlurh
Z.Uhqruqurpuh 8, ptr. 10

20 000

4 Upilhtr .\urqrupgurh P.Urnhrfrurtrurt{urh

Z.Uhrlurqurptnfr 8, ph. 12

20 000

5 Zuutifr\ ( 9m$urur

[uur2unnp3r:rtr

€.Urnhrlrurtrunlurh
Z.Uhrylqurpmfr 8, ph.15

?f {duph1

6 Ufrpurtiurpq Urlur2r:rh1 urh P.Unh$uhurt{tuh
Z.U\urqurpurlr 8, ph.3
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